Thermal cycling of stave. Last night Mario bagged stave and put in chest freezer. Reached -22C. Added dry ice today and brought temperature down to -48C. Let warm up to room temperature and reimage side with “good” heaters.
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[image: image4.emf]V I P P/A V I P P/A

Heater bad 7.68 2.2 16.90.348 0 0 0 0

Heater good 8.67 2.219.070.393 0 0 0 0
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Label
Emis
BG
Ave
SD
Max
Min
Unit

A1
0.95
19.0
30.14
0.45
31.1
28.8
C

A2
0.95
19.0
29.97
0.58
31.0
27.8
C

A3
0.95
19.0
29.69
0.74
31.0
26.8
C

L0
0.95
19.0
24.60
0.70
25.8
23.5
C

File 177
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Label
Emis
BG
Ave
SD
Max
Min
Unit

A1
0.95
19.0
20.25
0.14
20.9
20.0
C

Redo 174 – Before cycling
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Label
Emis
BG
Ave
SD
Max
Min
Unit

A1
0.95
19.0
29.15
1.05
30.4
24.4
C

A2
0.95
19.0
29.39
1.07
30.4
24.1
C

A3
0.95
19.0
28.91
0.97
30.2
24.8
C

Comparison


[image: image8.emf]Before After

Good P/A 0.388 0.393

Bad P/A 0.351 0.348

Power off ave 19.64 20.25

Top average 29.15 30.14

Middle average 29.39 29.97

Bottom average 28.91 29.69

DT top 9.51 9.89 Before only partial box

DT middle 9.75 9.72

DT bottom 9.27 9.44


Before camera too low so did not fully image top heater. So difference I ascribe to this. No change within errors.
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				V		I		P		P/A		V		I		P		P/A

		Heater bad		7.68		2.2		16.896		0.3479609892		0		0		0		0

		Heater good		8.67		2.2		19.074		0.3928153354		0		0		0		0

		Tin		20.3								20.1

		Tout		20.8								n/a

		File#		176								177

		Flow(l/min)		0.98								0.99
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				Before		After

		Good P/A		0.388		0.393

		Bad P/A		0.351		0.348

		Power off ave		19.64		20.25

		Top average		29.15		30.14

		Middle average		29.39		29.97

		Bottom average		28.91		29.69

		DT top		9.51		9.89		Before only partial box

		DT middle		9.75		9.72

		DT bottom		9.27		9.44






